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SECTION-A
Note: Multiple choice questlons All questions are
compulsory (10x1=10)
DOS stand for

Q.1

Q.2

Q.3

Q.4

2y Disk Operating System

b) Disk Operating Signal
c) Disk Orientation System
d) Disk Orientational Signal
Which command is used to make the dlrectory in

DOS?

a).. Del™.* by MD

c) RD d) Erase

Which one of the followmg is the address generated
by CPU?

a) Physical address
b) Absoluteaddress
) Logical address

/d) None of the mentioned

Run time mapping from vnrtual to physical address

is done by ,
a) Memory management.—

b}, CRU
c) PCI
d)" Noneofthe mentioned
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Q5

Q.6

Q7

Q.8

Q.9

Q.10

- memory.

.into the

ln Un. »
IX, Which sys
process? ystem call cre

a)
b)

fork —

Create

C) new

d) None ofthe mentioned
‘Memory management tech

stores and retrieves data frnlque In which Systen

om

a) Fragmentation
b) Paging —
S% Mapmng.

one of the mentione
Asetofprocessisin deadlgck if
a)- each process is 3

forever
b)

o gﬁgrlopcrggsess is terminated

allpr sare tryin [

?')he none of the m’ent)i,on%go i echoler
i ;a):gcrzsa%es that are résidin
this called - (" g to s

a) jobqueve
c) . €xecution queue Bl ready queue

<k d) proces
Swaps processes in: ansd'q gﬁtu ?)f th
v e

g in main memory
Xecute are kept on

a’)/MEmo
'y manager
c) CPp managerg 2;
—__Isthe concept j -
! ptinw
main memory fro hich a pr ocess is copied

accordingtot Yy ITom-the secondary me
a) Pag?ng e requirement ndary memory

€)  Segmentation /g;)/ S e vl

; - Swapping
2 ) '
(2) 180831/1‘70831/120831

/30831

CRU .+ &
User ;

ates the ne

forusei i : secon
Inmain memory is called? dary Storage Q.14 What is virtual memory?

bloc il
ked and will remain so

: L Q.24 Define process.

e i
LT
i Q.25
! s
L

T TRERTRA I LAY s |

SECTION-B

pe questions. Al questions @

Note: Objective ty
compulsory-
Q.11 Whatis operating system

Q.12 Define GU!
Q.13 What is the
p‘rograms’?

difference betweer process and

Q.15 What is Process Control Block?

Q.16 Whatisdeadlock?'
Q.17 Whatisfragmentatlon?
Q.18 Whatis file?

Q.19 Whatis spooling? |
20 Whatis the difference between internal commands

and external commands?
SECTION-C

Note: Short answer type questions. Attempt any twelve
questions out of fifteen questions.
12x5=60

Q.21 Whatisinterrupt? How itis handled by OS

.~ Q.22 What is Short-term scheduler(CPU scheduler)
8 describes with diagram ,
Q.23 Differentiate between

Shortest Job first (SJF)

scheduling and Shortest Remaining Time Next

(SRTN) scheduling.

Draw the process life cycle &
explainin briefly.

What is Preemptive CPU scheduling? How it is
different from Non Preemptive CPU scheduling.

Q.26 Explain deadlock detection & recovery.
| Q.27 Writea short note on device controller.
Q.28 Define Memory mapped I/O
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Q.29
Q.30

Q.31
Q.32

Q.33

Q.34
Q.35

Note:

Q.36

Q.37

Q.38

What are the difference between Real Time Systq

and Timesharing System.
What is Unix ? Write down any four features
UNIX. _
What are the different accessing methods of a file?
What are the operations that can be performed on 5
directory?
Explain time slicing. How its duration affects the
overali working of the system. |
Whatis segmentation?
Explain the DMA

SECTION-D

Long answer type questions. Attempt. any two
questions out of three questions. 2x10=20
What is operating- System ? Explain in details the
different " services provided by the Operating
System. ‘ et T
What is process scheduling & process scheduler?
Differentiate between Long term scheduler Short-
term scheduler & Mid-term scheduler with diagram .
Also discuss the job queue |, Ready Queue &
Device Queue. _ i LoE

What is Fragmentation? Differentiate between
External & Internal fragmentation with example.
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SECTION-A

Note: Multlple chmce Questions. All ‘questions are

compulsory e (10x1=10)
e (Course Outcome/CO)
Q.1  Which of the followmg 1s an operating system? (CO-1)
- a) Oracle - b)  Unix

C) MS-acess ) Fexpro -

Q.2 How many states of a process are thére? : (CO-2)
a)x EGu bk
3 R, . d) Unlimited

0.3 : Whlch of the following is not a schedulmg algorithm.
a) First come first serve ‘ | (CO-3)
b) . Round robin
c)  Shortest remaining time next

d)  Bakersalgorithm

0.4 | A procéss said to be in state if it was waiting

for an event that will never occur, (CO-5)
L ) Safe b) Unsafe
a .
Starvation - d) Dead lock
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:9:+ “Who developed linux softwafe?

Which one of th
e following j scre
CPU? OWIIlg 1S the address generated b . ommaﬂd is used to cleal' the (CO"9)
. , - ya10 Which © ' ‘
a). -~ Physical address - (Coy) b finux? Chown
C) Logical add b Absolute addresg i " Chsh b)
Mo T é ress d) Noneofthe e i 2) N gy - Cleant
ind Tortiovas ga::?;;:ichmflue in which system Stored c) SECTION-B e compulsoTy
. : seconda ‘ o . 1 questions k
main memory is called: 1Y Storage for use jy | ¢o. ObjectiveyP questions- Alld 10x1=10)
a) Fragmentation ~ : Cog B ' /
A tion b) Paoi ) e ting System (Tfue
¢)  Mappin ' o B .y single-usel ORETETE co-1)
Which ; g d)  Noneofthe'ab Q1! Lmux. y » G
wiich scheduling algorit bl L false)- (CO-2)
the o S Hing algorithm allocates th L of process
process that request the CPU fir t? e CPU first ¢, 0.12 Name any two states OI P . (CO-2)
a)  First-come. fire - 45 (CO-2 : any twWo output devices- 5
5 Sh com.e, first-served scheduling ) p 1 P es); have states. (CO 2)
Ortest: job scheduling Q.14 Aproc ~—Jeadlock recovery 1S to identify
©) . Priority Scheduling Q.15 The first SP e (CO-5)
d) None of the BN iy —_______proces ' : £
: : ting free arca 0
In priority Schedurmemlqn.ed Q.16 Worst fit algonthx.n is the best for selectng (CO-6)
o DR e (CO-3) | memory for parition (/) (CO-T)
: LS f:lllocated to the process \’?Vithth . 1 Q 17 CMOS stands for. -
S o ale Nighest g Printe : device (CO:N
b) CPU is all : ; 0.1 Printer L3 SRR ISR, : (CO-7
priority ~atlocated to the process with lowesy | Q19 printer produces ____ ¢OPY- . e
¢)  Equalpriori - . L Q.20 s an example of multi user operating sySterm-
4 qu‘ PIIOrIty process can not be scheduled 3 e : ; ; (CO-9)
) . None of the above B S SECTION-C

| 4 Note: Short answer type questions. Attempt any twelve

e - (CO8) :

3 Dennis M. Ritcliie * b) " Linus torvaldi o E questions out of fifteen questions. (12x5=60)
c . . £ , i ‘;

A B? éme stroustrup  d)  Grace Murray Hopper Q.21. Whatdoyou understand by system call . ((((3: (()) - 11))

Q.22 Explainbenefits of virtual machine.

O s 2 |
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Q.23
Q.24

Q.25
Q.26
Q.27
Q.28
Q.29
Q.30,
Q.31
Q.32
Q.33
Q.34
Q.35

. Note:

/

What is process control block. | (CO:‘Z)
Give name of condition for deadlock to occur.
| (CO-5)

(CO-6)

What is a physical address .
What are the advantages of partitioning. (CO-6)
Write short note on paging. (CO-6)
What do you understand by virtual memory. (CO-7)

What are shared devices. (CO-7)
What do you mean by buffering. (C0-7)
Explain types and use of scanner. (CO-7)
Explain logical file system. | (CO-7)
Explain C shell inlinux. : (CO-9)

What is the purpose of grep. command. (CO-9)
Whatisalightpen. B (CO-7)

ot SECTION-D

Long answer type ques_tibns. Attempt any two out of

three questions. -+ (2x10=20)

Q.36 What are deadlocks? How deadlocks can be avoided.
i | (CO-5)
Q.37. Explainthe fite structure of linux. (CO-3)
Q:38 Define the term operating system and explain various
— types of operating systems. ‘ (CO-1)
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